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Silverware (silver metal) reacts with HaS that is present in trace amounts in air to
produce Ag:S (tarnish). The cleaning of silverware is a redox reaction:

2Al + 3Ag:S = 6Ag + AlSs
*This reaction requires heat to attain E. and water to act as an electron transfer medium. Thus, the
silverware is placed into a pan of water which is lined with aluminum foil and then heated in the
oven.

Oxidation half-reaction:

*Remember, oxidation is a loss of electrons, so electrons will be a product

Reduction half-reaction:

*Reduction is a gain of electrons, so electrons will be a reactant
Balance electrons to create the net redox reaction:
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Practice Questions: For each of the following reactants, give the

a) oxidation half-reaction d) oxidizing agent
b) reduction half-reaction e) reducing agent
c) balanced redox reaction
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Oxidizing agent: ?D Reducing agent:

Ca Cr
%Asslgnmem 1: Read Hebden p.190 (start at ‘Definitions’) & 191 and do p.192 #1&?2
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